







Cadet___________________

FCE Homework 1: Rubric 25 Points                                                                   page 2


	1.  Express 210 as a product of its prime factors.
2*3*5*7

	2.  Solve 
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	3.  Given 
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	4.  Solve 
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	5.  Solve 
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	6.  Determine a possible equation for the graph below.
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  For sin solution: insert factor of .5 inside the argument.   f(x) = 3sin(.5(x-Π))
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	7.  How much time does the average plebe spend studying?  You estimate the average plebe spends 10% of his time performing duties, 25% interacting with friends, 30% procrastinating (watching 24, football, basketball, frisbee, etc…) and his remaining time studying.  Assuming every plebe spends 6 hours of time in the company area per day, how much time does the average plebe study? 
2.10 hours

	8.  Find the roots of 
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	9.  Simplify log2(5) + log2(3) .
log2(15)

	10.  Given the graph of 
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	11.  Simplify 
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	12.  If the diameter of a circle is reduced by 25%, what impact does this reduction have on the area of the circle?
The area is reduced by 7/16 or it is 9/16 of the original area.
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